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e scanf(“abc%d %d”, &num1, &num?2);
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File IO

o File /02 RSl Bt 01217127t YL LICH
o fputc/ fgetc

o fputs/ fgets
o fprintf / fscanf

e printf / scanf@l AR 0| H|=ot fprintf / fscanfE O|Esl&A|Ct
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File IO

make -s
./main
File open success

#include <stdio.h>

v int main(){
FILE *fp;

fp = fopen("test.txt", "w");

if(!fp){

printf{"File open faild\n"});
return -1;

}

printf("File open success\n");

Files B &®
fclose(fp);

(: main.c

return 0;
test.txt
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o test txt IO LHES 2/d5H=AICEH
o fprintf= printf2} AFZ2EH 0| OjF SAFRIL|C}

o XO|E2 fprintfe| 2 QX2 File ZQIE{E EAHF0{0F B LT}

fprintf(fp] “hello, %d Wn”, num);



File IO

o fprintfE O[25HAM test.txt I}YO|| 212 otHZ 2ISHEN !

test.ixt >
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#include <stdio.h>

v int main(){
FILE *fp;

fp = fopen("test.txt", "w");
if(!fp){
printf("File open faild\n");
return -1;
i}
printf("File open success\n");
fprintf(fp, "2099-99999\n");

fclose(fp);

return 0;
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o I M2 LHEZ 2I0{FZAICE
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o 0|2| BFHEO|E char H O Tl 9

o charHiE0| EAU= UE= printfS O[E3HA

./main
File open success

2899-99999




#include <stdio.h>

v int main(){
FILE *fp;
char result[100];

fp = fopen("test.txt", "r");

O 00 NN O U B WIN -
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if(!fp){
printf("File open faild\n");
return -1;

}

printf(“File open success\n");

fscanf(fp, "%s", result);
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printf(“%ss\n", result);
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fclose(fp);
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return 0;
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3v int main(){
FILE *fp;
int _, num;

fp = fopen("test.txt", "r");
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v if(!fp){
printf(“File open faild\n");
return -1;
}
printf("File open success\n");
fscanf(fp, "%d-%d", &_, &num);
printf("“sd\n", num);

fclose(fp);

~at al g .
return 0;




File IO

JIE0M 22F 7|2 ot|=
O] =g A2 e 2 2t

fseek(fp,
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SEEK_SET);

SEEK_SET(*-3)
SEEK_CUR(A 212])
SEEK_END(Z)
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o fseekS O|Z3HA Tt EQIE{O| 9(%|S &
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./main
File open success
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int main(){
FILE

FILE *fp;
int num;

p@=Nfopen ((AEesEr EXE =) s

if(!fp){
printf("File open faild\n");
return -1;

}

printf("File open success\n");

if(fseek(fp, 5, SEEK_SET)){
printf("fseek failed\n");

return -1;

=
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fscanf(fp, "%d", &num);
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printf("%sd\n", num);
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fclose(fp);

return 0;
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}
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Header File
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Header File
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2 #define MY_MATH_H
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int num2);

T numl,

my_add( inf

int




Header File

o 40| 2HS QYsHA A2 MUS ZIISHEAIL}

o my_math.c }YUS ZI}HEM !
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-{8 main.c

> c my_math.c

my_math.h
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e my_math.c IF¥HM my_add &+5 ¢
o my_math.h ItY-Z include s OF&rL|C}

o 7O, “ZS O ZoHOF L Cf!

1 #include "my_math.h"
2

3v int my_add(int numl, int num2){
4 return numl + num2;

> }




Header File

e O|A| main.c It k2| main &+0|AM my_add &4+= AtESHSA|CE

o ORRIZIRZ, my_math.h IHYS include 3OFgHL|Ct

1 #include "my_math.h"
2

#include <stdio.h>
4

5v int main(){
6 printf("sd\n", my_add(3, 7));

.
8 return 0;
9 }
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Header File

my_math.h my_math.c

#1fndef MY_MATH_H 1 #include "my_math.h"
#define MY_MATH_H 2
3v int my_add(int numl, int num2){
int my_add(int numl, int num2); 4 return numl + num2;
90 )
6
int my_mul(int numl, int num2); 7v int my_mul(int numl, int num2){
8 return numl * num2;
#endif 9 }
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Visualization
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Visualization
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main.c

lib-cross.c

c lib-cross.h




Visualization

o oF THAY ZlstHM 2t0|E212[5 AGollEAlLt
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Visualization

e 210|E2{2|2 include aEL|C}

include "lib-cross.h"
#include <stdio.h>

v int main(){
gotoxy(10, 10);
printf("*");
printf("\n");
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Visualization
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1 ude "1lib-cross.h"
ol AIZLIC} :

o Yzl 2=|0M (x, y)2| 2] 3 #include <stdio.h> make, -s
| J/mali

o x:10 3 . )
5v int main(){

o y:10 6 gotoxy(10, 10);

printf("*");
printf("\n");
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Visualization

o w2 EFLIC

#include "1lib-cross.
#include <stdio.h>

v int main(){

gotoxy(10, 10);
printf("*");
printf("\n");
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Visualization

o 15 v enum Code {

16 BLACK

17 DARK_BLUE
DARK_GREEN
DARK_SKY_BLUE
DARK_RED
DARK_VIOLET
DARK_YELLOW
GRAY
DARK_GRAY
BLUE
GREEN
SKY_BLUE
RED
VIOLET
YELLOW
WHITE
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"lib-cross.h"
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#include <stdio.h>
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v int main(){
change_text_color(VIOLET);
gotoxy(10, 10);
printf("*");
printf(*Xn");
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return 0;
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Visualization
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draw_sta

= 37tA| parameter

A
T
C8el AV|(E

F

[=)
[==]

draw_star

(@)

int size

(@)

int center x:

(@)

int center_y :

(@)



Visualization

o Z1}0jAl

51v int main(){
52 int size = 3;
53

54 draw_star(size, 20, 20);
55 }
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Visualization

o LT OA

oid draw_star(int size, int center_x, int center_y){
1t start_pos_x = center_x - size;
int start_pos_y = center_y - size;

int pos_x, pos_y;
int len = size*2+1;




Visualization

o 1C 01|A| ‘ change_text_color(GREEN);
5 pos_x = start_pos_x;
pos_y = center_y;
for(int 1 = 0; 1 < len; i++){
gotoxy(pos_x++, pos_Yy);
printf("*");
}

(<)

change_text_color(BLUE);

pos_x = start_pos_x;

pos_y = start_pos_y;

for(int 1 = 0; 1 < len; i++){
gotoxy(pos_x++, poS_y++);
printf("*");

}
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change_text_color(RED);

pos_x = center_x;

pos_y start_pos_y;

for(int 1 = 0; 1 < len; i1++){
gotoxy(pos_Xx, pos_y++);
printf("“*");

}
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Visualization
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change_text_color(YELLOW);

pos_Xx = center_x + size;

pos_y = start_pos_y;

for(int 1 = 0; 1 < size*2+1; i++){
gotoxy(pos_x--, pos_y++);
printf("*x");

}
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change_text_color(VIOLET);
gotoxy(center_x, center_y);
printE(" %)

Y DN

gotoxy(0®, center_y + size + 1);
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Visualization

o OIS HI2T, HME AZ 2o 2|AILICH

void draw_star(int size, int center_x, int center_y){
int start_pos_x center_x - size;
start_pos_y center_y - size;
nt pos_x, pos_y;
int len = size*2+1;

screen_clear();

change_text_color(GREEN);
pos_x = start_pos_x;
pos_y = center_y;
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Visualization

o LT OA

52 v int main(){

53 int size[2] = {3, 7};

54 int 1 = 0;

55

56 v while(1){

57 draw_star(size[i], 20, 20);

58 i = (i+1)%2;
59  }
60 }

o ABGHER, M7} 7]



Visualization

o FHMZ AHEAILE
int main(){
int size[2] = {3, 7};
int 1 = 0;

hide_cursor();

hile(1){
draw_star(size[i], 20, 20);
1= (1+1)%2;
}
}
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H b ¥ AHO|0] sleep(delay) S
o= AlCH
2t0|E2{2|0f| £ E[0] L= msleepS

477 ms O3 TR0 528

opf

}

int main(){

int size[2] = {3, 7};

L=0;

hide_cursor();

hile(1){

}

draw_star(size[i],
= (1+1)%2;

msleep(100);

20, 20);
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— - 2v int main(){
o JAUSHEH, JFH2= FO| A4 5 | tnt size[2] = (3. T}
e A8 T 4 U5 it =0
HI 2| OFgf LT

while(1){

bLﬁfer0H2¥° LHE=

draw_star(size[i], 20, 20);
fflush(stdout);
(= (1+1)%2;

msleep(100);
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int main(){
o kbhit B4-E 0|83fA 7|E =} A
; nt 1 = ;
s34 &ele = US U
hide_cursor();
o scanfe G2, 7|1& +& = YEE 2|4
OIOL= 22|13t & QleLICh e
~ draw_star(size[i], 20, 20);
e getch &t4E 0|ZslA =2l 7|9 60 fflush(stdout);
PR 61 i = (i+1)%2;
JEE Lo &= U 62
s = 3 if(kbhit() && getch() == 'c')
¢ C 9|7|- §E|DI_:|, HFE% %E _/IK_ 4 break;
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msleep(100);




Wordle: Final Project



2 Z-I :) : U d 't 19 v void check_answer(const char *answer, char *result) {
ZH (] i E— p a e 50 v int checked[5] = {

o 7|29 special caseE FAHo=Z

TthobA| ZotH Fe2= HEo A S LT

(int 1 =0; 1 <5; i++)
result[i] = 'b';

(int 1 =0; 1 <5; i++) {
if (answer[i1] == question[i]) {
result[i] = 'g';
checked[1] = 1;
}
}

(int 1 =0; 1 <5; 1+4+) {
if (result[i] == 'b') {
for (int j = 0; j < 5; j++) {
f (!checked[j] && answer[i] == question[j]) {
result[i] = 'y';
checked[j] = 1;
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e wordle ta.c I} set question 42 E5| 2
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strcpy(question,

"askew");
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Flow Chart

%

\

init_game

start_game




Flow Chart

init_game

>

start_game




Flow Chart

start_game

char answer[5];
char result[5];

Y

make_answer

Y

status = guess(answer, result);




Flow Chart

start_game

char answer[5];
char result[5];

Y

make_answer

Y

}\\-9— -n_\l\\

= guess(answer, result);




Status Information

wordle-st.h
Y enum error_1l1is
GOOD, result HiEof| A4AQ At E0{US
ERR_IMPROPER_WORD, P answer’Z} Cto] 2| AE0f QS
ERR_TRY_EXCEEDED, - try 31471 6HES 2115t
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result BE Q| 2t 7H0f| 371R| 2 StLte| A1t
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Grading (1004 OHA)

e Implementation (20&)
o WA PH F4It BNHOR 2B 0f AT (2 10%)
m init_game()

m  StartGame()
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e Performance (60&)
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